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No. Hi1 R4 oK H w52 KA (BOD)
t|c| - me/0 me/t | me/n | o
el 1/9 | 14:38] & | 12.6] 12.6 8.0 1.8 3 11| 24,000
217401 1/9 | 14:47) & | 12.6] 14.0 7.4 210 16 6.8| 160,000
3)m)1 1/9 | 15:01f 2 | 12.9| 11.7 7.2 1.2 4 10/ 1,700
4 KB 1/9 | 14:21) 2 | 13.1} 12.1 7.6 1.0 7 11| 1,700
5 AR 1/15 8:52| I 8.0 6.8 7.3 0.8 1 12| 9,200
6] SRR 1/16 | 14:30f & | 14.1| 15.8 8.2 1.0 3 9.8 54,000
7V R 1/16 | 14:10f £ | 13.4| 10.3 9.4 1.8 > 13| 9,400
8| SR TR 1/16 | 14:05f & | 13.4] 9.5 9.3 L4 D 13| 11,000
9l KA TR 1/9 | 13:19] B | 15.1| 11.7 8.0 4.8 4 11 160,000
10| 22711 1/16 | 9:46] £ 9.0/ 7.5 7.8 0.8 > 13| 1,700
IS 1/16 | 9:35| 4 8.6/ 7.5 7.3 1.4 2 1] 9,200
12711 1/15 8:22| = 8.8] 9.3 7.4 1.6 2 11| 5,400
13| &)l /16 | 9:20f & 8.8| 9.2 7.6 0.9 3 11| 5,400
14| dd R R 1/16 | 9:00f 7.5 7.1 7.7 0.8 2 12| 2,400
15| PR Rk 1/16 | 8:550f & 7.8/ 1.5 7.7 0.8 1 11| 5,400
16] &I 1/9 9:47| & | 11.8] 12.3 8.0 1.7 15 8.3] 3,500
17HTHED) 1/9 9:08] 4 | 10.1]| 10.9 7.8 1.2 14 11 2,800
18| #h LI 1/9 9:29; W | 13.1} 10.7 7.4 1.1 5 10| 35,000
19| FiA)1| 1/9 | 12:51} 4 | 13.1| 11.8 7.6 1.2 2 11| 4,600
20 Bt )| 1/9 | 11:09 W5 | 13.1f 10.7 7.3 1.0 4 11 2,400
21| )1 (21 1/21 | 10:30f F§ | 11.5| 8.5 7.5 0.9 12 11| 9,200
22| FFFIAKE (11D 1/21 | 10:50f I 9.9 8.7 7.6 0.6 > 12| 5,400
23| RS 2 1/21 | 10:16] W | 9.3] 9.6 7.3 1.3 3 10| 1,700
24| 3mT 1] 1/15 | 14:30f F§ | 11.0] 10.9 7.3 1.9 3 9.8/ 16,000
25| 1) 1CHTHEL) 1/16 | 10:42] 2 9.9/ 8.3 7.8 0.9 4 12 540
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